Sequences

1. Write the first five terms of the sequence whose n" term is shown.
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2. Find the indicated term of the sequence whose n" term is shown.
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3. Write the first five terms of the sequence defined recursively.

a) =10, a,,,=4a,+2
/‘* ‘—-—___,

Cxart = O +2

~N—

G.= \O W= Q“_‘z Q\-\-Q-
Ge= VL

o3 = 19 4.= 4.+
O V9= G.= \0Q +2
Qe=~ 1L+ \B Cip =\l

\

K=2 Q20 =0.%2
Q3= G2 Y
Qz S VL +r2
a\s:\q

b) 31:31 ak+1:2ak_1

K=\
C\\‘-'. 3 , Ayav= 2La, =)
035

Qe = l(.B\—'\
O+ = 2(5\“\:q = -\
Gy= L () =-\ = |77 - s

Os= 200MN-\V =33
[




4. Write an expression for the n™ term of the sequence.
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Sigma notation
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5. Evaluate each series.
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6. Use sigma notation to write the sum.
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